I How many teams?
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(a) 10 girls in teams of 2 (b) 12 boys in tean{:;: of 3
(c) 20 boys in teams of 5 (d) 50 girls in teams of 10
(e) 27 children in teams of 3 (f) 24 children in teams of 4

2 Share equally among the teams.

(a) 8 ropes —| 4 teams (b) 10 benches —| 10 teams
(c) 45 hoops —»| 5 teams (d) 16 skittles —| 2 teams
(e) 40 balls —| 4 teams (f) 70 bean bags—| 10 teams

3 Find each number-

(a)

(b)

There are less
than 25 balls

I can share them
equally among three
teams or four teams.




Each ride takes six children at a time.
How many rides are needed for
(a) 18 children (b) 42 children (c) 60 children
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(d) 30 children (e) 54 children (f) 12 children?
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2 (a) 6 divided by 6 (b) How my sixes make 367
(c) Divide 24 by 6. (d) Share 12 equally among 6.
(e) Divide 36 by 6. (f) How many groups of 6 are in 487?
(g) O dividedby 6 (h) Divide 60 equally among 6.
N How many videos can you buy for
(a) £30 (b) £54 (c) £427
4 (a) 48-6=H (b)) 6+6=H © 2%+6=0
(d H+6=3 (e) H-6=10 (f) B+-6=0
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